20245 =ZHOUNT R EHREU-12% v H— 4 JnavsY)—4 EHIE B 4SM6E4F 288

B 7i—7 x= FZiAFC IX7T3d Al aSHF BAFN Zh = B2= HE s B B o WES | Bka (BLaE| Bz
ZEE 3R 295 3R27E SH4E 2h208 3R 14E
N P2Sp=VIN TEHF TEHF HEHR TaHFr FER o
PN 1420 16:00 10:00 1230 16:00 18:00 3 9 3 0 0 7 0 7 1
L LT TP T Jefofo] | [ [8]ofof | | [2][0]o0
AR 14E 5H4E 28218 5H4E 3R 286
\ EZTIES EENR ABLN RN R
2| #itFC 1720 1330 13:00 1510 15:00 2 4 1 0 1 6 1 5 2
|| tlajt] [Pl fsiofof [P T]
5A3H 25140 3R 296 5H4E 28218 3R 286 3R 296
. PO /) FFIDFR TaHF PO /) AT/ PO /) TaHFr
T EVET 1720 1320 1420 15:00 1420 14740 2 4 1 0 1 6 1 5 2
HEEAE LT fsfolol [T T T 1T
25298 5H4E 25290 25208 AR21E
i TaHFE PO /) TEeHF TaHF AT/
Al 16:00 1330 1320 1520 1340 2 3 1 1 0 4 2 2 5
HEEEEEN oj@f1] [ [ J4lof2] [ T [ []
25278 5H4E 25208 2h296 28296 AR21E
o TaHFE PO /) TEeHF TaHFr TaHFr AT/
Chada 10:00 1420 1520 16:00 1320 1420 3 4 1 1 1 1 0 1 4
ol@2] | | [ [ ] [t]0]o L L LT PP [T Jofafo
5 4E 25218 25218 2h286 53 3R27E
HEHK AT/ AT/ PO /) PO /I TaHFr
B 1430 13:00 15:00 1330 1510 920 3 1 0 2 1 0 10 | -10 7
| | lo[e@]5joj@]5] | | | | | | L L[] JofaJo
25208 25218 25296 2h280 AR 296
. TeHFE AT/ TaHF PO /I TaHFr
=2 16:00 1340 16:00 1330 14740 2 0 0 2 0 1 7 -6 8
ol@3] | | [ [ | [t]efa] | [ | ]| HEEE
5H40 AR 286 AR 296 5A30 AR 295
N EE mE TERF EEN TaiE
mE 1510 1420 1320 1510 1440
25146 AR 286 AR 296 AR21E AR27E
. FERDFR PO /) TaHF AF L/ TaHF
E= 18:00 15:00 1440 1420 920 3 2 0 1 2 0 2 -2 6
ol@2] | | [ [ [ [ 1] Jojafofofafo] [ [ ][]




